
PARTS LIST

DESCRIPTIONSTOCK NUMBERPART NUMBERQTYITEM

SLEEPER COMTIMSAW0012TB-200-53211

SLEEPERCOMTIMSAW0012TB-200-533_B22

Base Anchor Bracket - Powder Coated SteelCOMSTEMIS0028 43

M10 X 150 (DIN 603) Cut to 120mmCOMA2CBM10X150 84

M6 X 80 TORX WOODSCREWCOMA2WS6X80 85

M6 X 100MM TORX WOODSCREWCOMA2WS6X100 46

M10 WASHER (DIN 125)COMA2FWM10 87

M10 NYLOC NUT (DIN 985)COMA2NNM10 88

TWO PART CAPCOMPLACAP0028 89

0.01 CONCRETE FOUNDATION200 x 200 x 200 210

PRO-500-066_PF SLEEPER BENCH 2400x300MM

30/04/2021

Page:

Product Range:

PROPRIETARY AND CONFIDENTIAL
 

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
FENLAND LEISURE PRODUCTS.  ANY 

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION 

OF FENLAND 
LEISURE PRODUCTS IS PROHIBITED.

Tel: 01354 638359   www.onlineplaygrounds.co.uk

A3

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
TOLERANCES:
        LINEAR:                   ±2MM
        1 DECIMAL PLACE: ±0.5MM
        ANGULAR:               ±1°

DO NOT SCALE FROM DRAWING

Playground Equipment

Title:

Date:

2400,00

3
0
0
,
0
0

5
0
,
0
0

4
0
,
0
0

1
4
0
,
0
0

1
1
0
,
0
0



PRO-500-066_PF SLEEPER BENCH 2400x300MM

30/04/2021

Page:

Product Range:

PROPRIETARY AND CONFIDENTIAL
 

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
FENLAND LEISURE PRODUCTS.  ANY 

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION 

OF FENLAND 
LEISURE PRODUCTS IS PROHIBITED.

Tel: 01354 638359   www.onlineplaygrounds.co.uk

A3

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
TOLERANCES:
        LINEAR:                   ±2MM
        1 DECIMAL PLACE: ±0.5MM
        ANGULAR:               ±1°

DO NOT SCALE FROM DRAWING

Playground Equipment

Title:

Date:

2400,00

2
2
0
,
0
0

2
2
2
0
,
0
0

4400,00

Min Space



PRO-500-066_PF SLEEPER BENCH 2400x300MM

30/04/2021

Page:

Product Range:

PROPRIETARY AND CONFIDENTIAL
 

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
FENLAND LEISURE PRODUCTS.  ANY 

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION 

OF FENLAND 
LEISURE PRODUCTS IS PROHIBITED.

Tel: 01354 638359   www.onlineplaygrounds.co.uk

A3

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
TOLERANCES:
        LINEAR:                   ±2MM
        1 DECIMAL PLACE: ±0.5MM
        ANGULAR:               ±1°

DO NOT SCALE FROM DRAWING

Playground Equipment

Title:

Date:

1675,00

1875,00



A-A ( 1 : 5 )

 

A A

A

PRO-500-066_PF SLEEPER BENCH 2400x300MM

30/04/2021

Page:

Product Range:

PROPRIETARY AND CONFIDENTIAL
 

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
FENLAND LEISURE PRODUCTS.  ANY 

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION 

OF FENLAND 
LEISURE PRODUCTS IS PROHIBITED.

Tel: 01354 638359   www.onlineplaygrounds.co.uk

A3

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
TOLERANCES:
        LINEAR:                   ±2MM
        1 DECIMAL PLACE: ±0.5MM
        ANGULAR:               ±1°

DO NOT SCALE FROM DRAWING

Playground Equipment

Title:

Date:

1. SECURE THE POST FEET TO THE SLEEPER LEGS USING THE FIXING PROVIDED AS

ILLUSTRATED BELOW.

2. SECURE THE SLEEPER LEGS TO THE BENCH TOP UING THE FIXINGS PROVIDED AS

ILLUSTRATED BELOW.

3. WITH THE LEGS SECURED TO THE BENCH TOP, PLACE THE BENCH INTO THE FOUNDATION

HOLE.

4. FINALLY, ENSURE UNIT IS LEVEL AND PLUMB, ALL FIXINGS HAVE BEEN TIGHTENED

AND ANY PROTECTIVE CAPS NEEDED ARE IN PLACE. ADD CONCRETE TO EACH

FOUNDATION HOLE AND LEAVE FOR 48 HOURS.

5
0
,
0
0

5
0
,
0
0

FINISHED SURFACE LEVEL

2

9 7 5

9

8

3

4

6

1

2


